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Least count of vernier callipers is: -&-tness Ko ¥ J,@‘f(ﬁ.".u -1
0.001 cm (D) 0.1cm () 0.01mm (B) 0.01cm (A)

Falcon can fly at a speed of: _q.,,;»;JL}iz:,,w %2
400 km h! (D) 300kmh . (C) 200 kmhl (B) 700kmhl (A

The force that oppose motion of a body: G, -q_JLfoFrJﬁzw;‘u -3
Momentum f‘%‘ (D) Work J» (C)° Friction lf;’ (B) Power i (A)

The S.l. unit of weight is: ety Sl KU -4

Joule Jz (D) NM X (C) Kilogram (/¥ (B) Newton % (A)

e o THIS 3 Sl - Jn -5

The number of forces that can be added by head-to-tail rule.

| Any number sWd/ (D) ~ Four Jg (C) Three £ (B) Two » (A)

Radius of earth is: e SLKS -6
6.6x 10’ m (D) 6x10%*m (C) 64X 108 km (B) 6.4x10°m (A)

The S. I. unit of work is: -¢-&f Sl K 7
Volt &/ (D) ~Meter /< (C) Joule Jz (B) watt i (A)

The formula of kinetic energy is: 4..11,»;6(&)!._@56' -8
mv (D) 12mv? (C) mgh (B) mvir (A)

Which of the substances is the lightest one? ?.;_gﬁc-_,..,.w (=) 2_0":( -9
Lead —+ (D) Aluminium (¥%  (C) Mercury §/7 (B) Copper 4§ (A)

Which of the following material has large specific heat ? ?.;_Jb(_zf?:aﬁ/uyd_’, U 10
Mercury $/7 (D) Water U& (C) lce J« (B) Copper 45 (A)
Sned Seb @l &) g 2 x 105K I et Qs AL 1

What will be the value of B for a solid for which oC has a value of 2x 105K 2
g8 x 10715 K1 (D) 8x105K! (C) 6x105K? (B) 2x10°k1 (A

In gases heat is mainly transfered by 4....,_-5’..;-,;lei'«'l}ui,}b: 12
Sonvection 57 on P “coliision AL (a
nvection =¥ (C) Conduction 4 (B) Molecular collision s (A)

Radiation /St (D)

)7 13 (Obj) 12018 - 50000 (NEW) SEQUENCE - 1

5—&-‘,— 'P"K‘ 9-!—




120139@’(

w45 28 1= ag=AF LWl (Us%) ﬂg-;f:/ © U7
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Q.No.2 Write short answers any Five of the following ~ 5x2=10 (gziagizﬁé.pury Bl LSiln) 240y
| Define Plasma physics and Geophysics -é;i(_.g_f/:"JJ(/ :f::lt/? il

EOpLTEI I SEE R 1

What is the difference between electronic balance and physical balance?

How digital stop watch is used.? ' ?:‘_.JQJJWI d_’&l:.rl.‘-ﬁi I~
Define circular motion and random motion. -4’.@/75&:'(5:;,»-;&/‘/ r
What is the differences between uniform and variable speed? %.J}l{uﬁ&{pﬂj.g»lg}‘idp [~}
What is banking of road and what is its advantage ? ?a‘.,u'G_U’KJl;:f?g_:l/y’c.. Sas STEE| ¥

&) et (g | ¢
What is the principle of cream separator and write its one use.

_&g(gl;a.ug!dﬁﬁ);ﬁu:gld; ”,-df{, A

Differentiate between action and re-action with the help of example.

Q. No. 3 Write short answers any five of the following 5x2=10 (Eg;;awﬁ/‘?f._-ﬂlr é';_c—uﬁufibﬂ) 340y
Define Like Parallel forces and moment arm -gﬁ;@uﬂwﬁ:lf;;’gﬂwhfu I
_&lenodut s A5 SRSk
Define second condition for equilibrium.Write its mathematical equation.
State Newton's law of gravitation. ' -4&_&0)5(@%‘.‘6{/5’&5 &
What is global positioning system? ?;.rngf("’..ﬁ#u{'}f
What are artificial satelltes? : (LAl | o
.| Define work. Write its mathematical equation. _ga..::,blzdudlgﬂ. é{..y/;JJ: 1
Define energy.Write its S.I. unit. | -2;90...*.#3 S.l. (JL%...?}U@.F! 2
Define power.Write its mathematical equation. . -é:fg .:J:VQL’JJ I 4(-2’}.”&5& A
2.No.4 Write short answers any five of the following 5x2=10 (@f&lﬂﬁﬂ*ﬁaﬂkéh&-dﬁd_’jbb) 4/,Ulr
Define stress and write its unit. = E;fq.’.-'.z{ubsl‘- a:.‘.i(_ng..ﬁjf [
State Hooke's law. . -4&_&@:’5’5’.{ F
Why does atmospheric pressure vary with height? ?Q_VKJ,EU[;L-LUA/'{{JA" Y|
What is difference between heat and temperature? ?,;.J)L_&;gi,;%n_-.._q
Define internal energy of a body. '-gbé’/“’.JL;)'Jf‘Jf)'L/ e
Define thermal conductivity. » 4’_;_!/‘.’15,&4'-’10} Y
What is greenhouse effect ? - . fq.l.f-b?‘-'ufﬂ.q/ 2
How does heat reach us from the sun? %.J’é‘d:-ffc_fw’aﬂf A
(PART Il ) oy e
JOTE : Attempt any Two questions from this part 9x2=18 j;/;—'-k'ﬁ&#—l”f”c-di(a-vc-"w O
Derive second equation of motion graphically. 4 & jar‘;.uJ.JI/.;,f,l,-d/,,J_-f; (A) -5

5 Snen UL Livl ShS e FAE 2ms2 {120 N Uk LI (B)

A body has weight 20 N.How much force is required to move it vertically upward with an acceleration of 2 ms-2

ixplain two major non-renewable sources of energy 4 a.:i:-,»u, Jébj L 45 JEt e andl g (A)-6
5 L Wi S SON - 16 CmALKSSLAL NS ()

The streeing of a car has a radius 16 cm.Find the Torque produced by a couple of 50 N.

4 & o LU ASSL Pt 2 E e S E S Py ()7
Jefine eveporation.Explain any three factors which effect the rate of evaporation.

5 &}F#G’ahfd}a‘ -¢- 850 g U c_ﬂc‘:d)q.{lﬁugs 40 cm x10 cm x 5 cm (B)

\ wooden block measuring 40 cm x 10 ¢m x 5 cm has a mass of 850 g. Find the density of wood.
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S.1. Unit of amount of substance is: ¢y S.L Lol A
Mole J» (D) Newton o (C) Kilogram (¥ (B) Gram S )
72Km h1 = 72Km h1 = -2
200ms' (D) 3éms? (C) 10 ms?  (B) 20ms? (A)
Fc = FC = o
mv?2 /r2 (D) mv3r (C) mvr (B) mvirZ (A)

eedf (M) 5 STesdiopenlsutlnrt -4

The value of coefficient of friction ( i; ) between tyre and wet road is
09 (D) 0.8 (C) 06 (B) 02 (A)

The value of Sin 90° is el sing® -5
0707 (D) 05 (C) 1 (B) zero A (A)

The value of 'g' at the surface of moon is -q_:»g’:'J‘g 4 451{ Ly -6
0.16 ms2 (D) 1.69ms? (C) 2.6 ms?2 (B) 1.62ms? (A)

ENBWF Tl G0d T T
If the velocity of a body becomes, double then its kinetic energy
becomes double q...(jk;x%: (B) remains constant q_@;..'.éﬁf (A)
becomes half q.&!_m.iﬁ (D) becomes four times q..Jig.n ik (C)
_.q_.t‘:tgsliwy»ﬁ.bﬁuiw}__afﬂfhﬁx -8

The work done will be zero ,when the angle beween the force and distance is

180° (D) 90° (C) 60° (B) 45° (A)
The ratio between stress and tensile strain is called e Qedopnly S Ay -9

Bulk modulus g (B) Elastic modulus 330 Lkl (A)
Young's modulus uJ.dLrs- (D) Shear modulus qujL /’-? (C)

Latent heat of fusion of ice is ' -q...:uliﬁf iLl-E J i ) -10
2.26 x 10 5J Kg-! (D) 3.36 x 1050 Kg™!  (C) 3.36x10°5J Kg! (B)2.36x105JKg™ (A)

- ui':ur‘&:.abvyrw(.flfﬁiL_L{u:r.élwl.b*&fﬁiﬂg‘{d:" -1

The coefficient of linear expansion and coefficient of volume expansion are related by

SuARon B=3x (D) P=d4x (O) ~ p=2x (B) x=3B (A)
Best reflector of heat is | G ;.Q—G’U: Al 12
coloured surface 5 L,Cg (B) dull black surface 5 s_lrjug. (A)
shining silvered surface 5’ J}}u&", (D) white surface 5 4+ (C)
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(PART 1) (s} 4sman 2017 - 2019 8 2015 - 2017 : I
Q.No.2 Write short answers any Five of the following 5x2= 10 (zgf:a}.-,ywﬁ?z..-..mr Gl LT s) 2 AN

-

Write two important parts of vernier callipers. -zﬂ!‘tﬁu”(ﬂ»&) | !
Express the following numbers in scientific notation. ..4%%@’5_@%&;:42_-; v
(i) 0.00045 (ii) 384000000 (i) 0.00045 (i) 384000000
Define prefixes and give an example -zﬁf!JMb:l@(Jﬂf%{ r
Differentiate between rotatory and vibratory motion _4 C' !:J/'Uf cffdﬁﬁ ) ’/-’u i
Define random motion and write its example. -4‘:&»»14’..3}5&;»&; o
Differentiate between mass and weight. -$( EndAL s |
Why friction opposes motion? q_GgJu.r.(fqu’S’ &
Write two dis-advantages of friction. -30 ..-,tL-'r'f»L@":; A
Q. No. 3 Write short answers any five of the following 5x2=10 (4;}.—4!3/‘5’2.-,11!,» égc_.uﬁd',j&m) 3 f.;U’:’
Define rigid body. e S|
What is meant by first condition of equilibrium? Tq..:yb_fc...b/'&‘u(ﬁ;;';g' r
What is field force? te_ | v
-4.bﬁ;g/€.g;f£cc;¢u),£¢mq.4zs£; Lise| ”
What is distance from earth to moon and in how many days moon complete one cycle around
the earth?
?q_@i.{(;wc-k@é:gﬁbﬂq.{dﬁf:-dbdf' W/"‘f’f ]
What is the distance of geo stationary setellite from earth and what is its speed with respect
to earth? .
Define potential energy and write its equation. _@;ahl/m@-{.gﬂ&}fﬂ A
What is meant by biomass energy? Seslpe SHVLEL "'
What is unit of power? Define it . o fSse sy A
Q.No.4 Write shortanswers any five of the following 5x2=10 (@;fqmﬂ&;uwég;gﬁw@») 4 A
State Hooke's law. ' -@L«uﬁlﬂ.{ '
State Young's modulus -éfrwb‘fﬁﬁ& r
What is barometer and define strain. ..@r..éﬂfu_’“/ J:’.;_lml[%w r
Differentiate heat and temperature. _4’;:)},.&):)?»&}/,‘3:!@;[} ¢
Defne evaporation. _4(.2 PlFmy | o
Define convection. _4"_&' /JJU:{/ h
Define radiation. ‘ _4..41 /JJJ*!J&; Z
What is greenhouse effect? Tf.k(wﬂ-‘diycf‘_f
(PART Il ) pg3 4
NOTE : Attempt any Two questions from this part gx2=18 g;/’:.tlzéauinsc.gf:-uﬁfuﬂ td
Derive second equation of motion with graph. S =Vit+ 1/2 at? &'C—JAL{J'}&"V(’/‘”JJ)’ (A) -5
5 e ied L 22 { e Sel2e G158 10 ms 1 (LU Es (@B

A body of mass 5 kg is moving with a velocity of 10 ms-1 Find the force required to stop it in 2 seconds.

Define potential energy and derive its mathematical relation 4 -4( EIJ%PB’JI»I&E(._E/JJ&EI J’“‘? (A) -6
5 ot hlnige S SON ¢ 16 CmALABLZLKS (B)

The streeing of a car has a radius 16 cm.Find the Torque produced by a couple of 50 N.
Explain Celsius scale and Fahrenheit scale with the figures 4 éﬁ.(:)l.h(f L}:",’thiuld:cﬂvﬁdﬁl (a) -7
5 _ el i 2.55 gem 3G HSE g BedyUim s Luin-¢-306 9 W AL EELL 32255 (B)

A cube of glass of 5 cm side and mass 306 g , has acavity inside it,if the density of glass is 2.55 gcm'3 .

Find the volume of the cavity. f ') | DoKX 9 an /8



